Landing gear Backyard series

Kit contents:

Landing gear

2x Wheel pant

2x Pant brace

2x Landing gear reinforcement
2x Wheel

2x Screw M2

4x Nut M2






A PIL"'
| : \
&‘ L+R

b .

A 'AVR “ y % ‘

Medium CA




@

(2]

2x Screw M2x16
4x Nut M2

—

Medium CAH



.

-,

——t
—

Medium CA




Carbon 1x 80
(The rest of elevator
pushrod)

Sandpaperk



	Stránka 1
	Stránka 2
	Stránka 3
	Stránka 4
	Stránka 5
	Stránka 6

